;> restart
> Equation = diff (y(t), t82) — 7-diff (y(¢t),t) +12-y(t) =4-exp(2 t)
2

Equation:Zd—zy(t) -7 (iy(t)) +12y(t)=462t €))
dr dt
_> InitialCondition == y(0) =2, D(y) (0) =-3
i InitialCondition :=y(0) =2,D(y)(0) =-3 2)
> with(inttrans)
[addtable, fourier, fouriercos, fouriersin, hankel, hilbert, invfourier, invhilbert, inviaplace, 3)

i invmellin, laplace, mellin, savetable ]
> LapTransEqua = subs(InitialCondition, laplace( Equation, t, s) )
LapTransEqua := s laplace(y(t),t,s) +17 —2s— T slaplace(y(t), t,s) + 12 laplace(y(t), t, )

4

| $) = s—2
_> LapTransSol = simplify(isolate( LapTransEqua, laplace(y(t), t,s)))

LapTransSol == laplace(y(t), t,s) = 38 —215+25 )
i (s —2) (s2—7s+12)
_> ParticularSolution = inviaplace(LapTransSol, s, t)
i ParticularSolution .= y(t) = -7 et 7 12 (6)
_> PartSol := dsolve( { Equation, InitialCondition})

PartSol :=y(t) = -7 +7& +2¢&*' W)

>
>



